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ese aepatd, e b 0 L8
b PART—A

gnd each one is labelled (o), (B} and () Read each sentence to find ous
is an error in any underlined part. Ne sentence has more tf:a.n one
error. ;mn yoh find an error in any one of the vnderlined parts fa), ) or (¢), indicate

the Answer Sheei at the appropriate apace. You may feel tha.t there
' sentence, In that case, {d] will signify 2 Nao ervor’ mapansr:

{i} In thig seh J\a number of sentences are given. The sentences are underlined:in thres

g
:
?

ftiy Errors ma he En grammar wan;l usage or idiomns. There tnay be & word mrssing or

" aal'mrd which should be removed.

(i) You are fpired to correct the error. Yau are requived mly to indlcﬂtﬂ your

#nswer&heet : L ',

L : prk hard  you will always succeed. No error
' b €
2. the eame lessom  since five days.  No error
&} e {ci
': 3. F RETE :h_appg dancing at the victoty  of oy crickel team in Australia. :
i b S R

No error Y P
{4 : )
4. Imagine living Wih’l someone  who never stope talk, Mo error
@ l\ ® fe} o .
hitold me that the old woman died by canger: - Hoerror o
. @ fc) - @ 25
:I k\ <1 .;E_ | v




1 who worked so hard in the project, the news was
45 fex}

: B
. i I. '!-
~ profoun: 'ﬁi@ppbintin__g. Nec error
: R @
II T E‘Mﬂl th e lost the beauty contest, she was still .mm pretiier , ‘.”-_
i .. ) '
i Na eryof, ' s:
@ i e
il )
: .
i

ting, informative . and it is easy to rcad.. No error

{®}

|
|
(c} fed) - "

: | :
- 1 = i
; ! i
| . i :
’,L ctions of the sun and the ooon have a direct effect :!
; T fei} o
i

: : _ : #
df the tides. No error e L I _
fcf () i 'I s
T I _ - ‘-

i
i

.@which are available, many peui:rle gtill have trouble sleaping.ig
- R BCE |

| - 2

@
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Directions

of the .-|i‘.\---
words, Seiect the 28

Each

the context. ;

11.

One m
i) Nobility : /2 Eminence
@ Honolff | - (@) Rank

ill .

12. Europe, \irerice and Japan have
taken £0. ?i fisld’ of acience with
SINGULAR wigotr and activity,
fa) Pﬂﬂu'l "I {b) Ouistanding

om :
fc) Familiag| | (@ Singde
il 13. OUJEREE i&‘ll ;‘r'n'-"-nrll'.-l t:l_j?m ﬂ.‘G'E Df
\ sTience, [ L
i

i: {a} Era 1{&} Date

| & Generatidh l(.«;g Moment

- ' fiimd

4. Ant is Deliewnsd

|

|

|
o |
o livel life with DIGNITY.

be the most

fal Sensible Stzccesaftil
c} Diligent ‘{8 Pupctus)
]

_ ; _
The schools |finsigt on giving
WHOLESOME Yt §fp the children
for the propet g of their mind
and body,
@) Whole cropg|: 5} Nourlshing
&l Fit Il ¢! Svuna

Mcia-m-ﬁzsjm | Rt
. )
l Al
| 1,

Fgr the 10 items whick follow)

ig itemhs consists of a sentence followed by four words or groups of
m of the ward {oecurring in the sentence in-capital letters} ae per

16,

17.

As T look around [ see the cﬁ:mb?h‘ig
ruing of e proud civitization strewn
like & vast heap of FUTILITY.

fa} Irrelevance

fb) Absurdity

{c) Puointiessness

{d} Downmodden

Mark Antony’s EULOGY of Cassar is

finely recorded by Shakespeare in
hiz play. _

fa) Prayer
1 Henour
fct Praise

{d) Denunciation

18.

-} Excellent .
19,

By 1918, Gandhiji had established
himself as'a leader with a UNIQUE

way of protesting exploitation and
ing,uﬁma.

f) Different 'fb} Empﬁonal
@ Good

Your INTERVENTION wss rtqu:rtd
{2} Interference (B} Inte.rmptir;n
e) Disturbance (@) Conpection
It iz difficult 1o DISCERN the sample

on the slide without ﬂdgusung t.hx:
micToscope.

{a} Discard
{e} Detenmine

)} Avrenge
i} Debaie




mrum"_ s {For the 10 items whick follow -

Each of I” he following items mﬁaists

of a4 semtence hollowed by four words. Select the

bonymy of the word {occurying in the sentence in capital ietrers) as per the comtext,

21. He

iﬂnésa ENERVATED the whole
ia . s

e f8) Exhausted

fd] Energized

!
?_

22, T‘he.-. bier  INSERTED  another
wiThin ol =y 'q_h]mte ﬁﬂﬁlﬁ.

) Br

(c} . Weakened

@ Dfucdtl * @y Added

]('E:} Beroo |' ﬁ.ﬂ Rmed
1
2. The cjtumiftee  rejected  his
LUDICR 't\i
fa) Absug {8} Reasonabie
| e
= .fﬁl' Parcical {d; Btupid
- 1
24. Children ABORE the cricket players,

=

{o} Diml i & Condemn
" @ Benest | @ cheox
25. These peoplellkre \sunk in abysmal
"~ ignorance their illiteracy ia

26,

27,

i &) Decent
. {9 Excellant

Previc_;us_l}' per capita income used to
INCREASE by saven Tupees per year,
) Dvindle ) Diminish _

Id  Mitigate @} Profit

-._ e
k. ..

o EI % 3
In the modern times,

“social | relationships e
rather ARTIR{CIAL, > ,

{5 Geimine

i/ Adorable

- Social LIBERTY may be instrumzental

in the emotonal growth nf & DErson.
@} Constraint @) Slﬁ'ae%y
{c} Compuision & Obligation

. Education i¢ mest ESSENTIAL for

the sall-roang development nf a
PRTSOR. .

{a) Unimportant @) Diaﬂaiﬁhﬂ

(¢} Customary @ Redundam

- Hle was extremely MODEST : in

Company.

{a} Curious &) Virtuous

() Unassuming {d} Immodest -

DR X X S

-y



Supply s

Directio \

& we ran the hoat into =
e wee made her fasi io A piece
g up the beach, entered

& armed with our

1speara ‘M: were  greatly

the Cloge ﬂnm_pml'tznadﬂnf'm For the 20 items which follow):
ble wuard in the blank of each item which is foMlowed by four words or

their places until we took hold 35
fa) off |
oy of
& from
{d} on

them, merely 36
fa} opened

) tumed
o L N
{3) showed

ﬂ‘lt'it &yes on us 37
fa} with
) out of
fc} in ; !
{d! on

e pm——

—

wonder as we passed. There I8
fu) Hved

b} existed

ft) was

{d} persisted
one old penguin, however that 39 |

=t

{fo} commenced-

b} began .,
i continued

(@) stalked

£

W
* .
A



% would not go back; in fact, it 46

& showd
B} would
o] could
fd) - must
not cease to advance, hut il
{a) battled:
&) stmg_glﬁ
f¢) contestegd -
(@ snugged
with Peterkin bravely, and 48
fa} chased
B} drove
fet moved
fdy lashed
him before it until it 49
‘e touched
b} exrived of
(6 reacheqd _\_
() jumped
the sea. Had Peterkin usﬁd. his 50
fa) baton
o) stick
{c} spear
{d} “club a
ke would have =asily killed it

(B.T. 0!



‘ At PART—B

Dﬁ'ucﬂom H
The following eight. {£) i
sthtements, Staterngn
Ydu are to examine{|t]
.carefully and select]t
itgms using the cods|gi

ernsist of two
_Statement II.

Code :

fa) Both

3
;5
L=
o
8
[=5

AE: I Iis the correct

{-bj Both

iz not the correct

£xpla |Statement [
fc} +is  true. but
izi false
{d} I|is false but

Il i$itrue

S1.. Statement I :
' insclation is
sun is direc# ;
sun’s rays ang -

: k:e‘st when ﬂm

52, Statement I : | _
. The Russian ﬁwﬂpﬁﬂn of 1817
i inspired the I - working class
- mgvement, Lo

B-M{Z-M-FZS/45A

:
I
|

Statement II -

The Non-Cooperation Movement
(1921-22) saw the involvement of
the Indian mﬁung class. :

83, Statermnent I:
Intellectral ~ criteria  which
informed the reform movements
were ratiopalism’ and religious
universalism,

Statement I

Sacial relevance was not judged by
a rationalist crihque :

54. Statement 7 :

Hard water does not give I&thEr
with soap. ¥

Sistement 1 :

Caleium and magnesiovm sali:s
present in hard water form
precipitate with soap. -

55. Statement [ : _ :
Evapotranspiratiorn  helps  in
classifying the climatic types. |

Statement H :

c-rﬂy remperature afifects wai::i—
transpiration, hence it can be used
for classifying the climatic types:




HUI .

AT IR (1921-22) i uliz
I 1 T G T

53. weH-] .

%ﬁﬁ'ﬁ‘iﬁiﬁmmﬁﬁﬁmaﬁ
afe B, sdefer o wits
grifimar: &
FHAAIT ¢ o
TR TR W TSaRad g
& SR T W |

]

54. -1 ; __
FIR T F % g )

TR wm T % s wi
. { : _




walls,

‘ sla iﬂrge-m:ale fluctustion
ﬂm{r from oil wells prior o

.‘.*\l

Teg . yess accumulates fo a
o |..'I letel, the pore pressure
withiny| la dgaep oilbearing stratum
reached its breaking sirength
<auaing oitito sprout along the oil

. B7. Statemasifli ;i -
_ The pofentia) energy that results
E from plighing water above mean
: is Hansferred to kinetic

acement of sea-
.l"; tﬂﬂ.bmpt and jerky
bf Fauli hlor:its on sed-

|I kiar '-I."i‘ln'll r-
: slower g T
.l ymiﬂi
| onkening
|! dﬂﬁ-ﬂgthﬁ- 1‘r [
|
5?. Conzider the fltrwin
I. Chelers \ !
b4 Typheid i 11

has experienced
rate during the
and 2011-12.

1 Statement I :

hag experienced
strial

Hates the horizental

grwth_'

Which' of the ahove d‘]ﬂ-ﬂﬂ.&ﬂ’& are

caused by bactena‘-"
fa} 1 and 3 only
& 2 and 4 only
fci . 1, 3and 4

ff 1, 2 and 4

1
i

60, Consider the following stai_:ements

in relation to

plant 'l. tisaue
‘chlorenchyma’ :

spongy mesophyll,

2. It is a form of pmanchyma
which eontains chloropissts.
3. Tt serves 1o rebsport orgamc

‘solutes  made h;-.v phutu~
synthesis. - :

4. It iz a thin transparent ]ayer
which has chiefly = pmtm:tiw:
function, i

Which of the statements gwen
above is/are correct?

1

{2} 1 and 2 only
@ 1,243
fc:)‘_ﬁﬂnd‘l-.

(@ 3 only

10
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1

62. In India,

{ non-agricul

| diversion of egiieu

population and
i al’“ land for

have

12

63. Radioactive deca;,r provides an

internal . sourge . of heat for the
earth. This helps i the formation of

'which type of :mt:kﬁ?

{a} Tgneous
b} Se-dunentﬂry
fc) Metamm’phm
{d} Al of the above

64. Sun emits E:l'lerg.r in the form f}f

electromagnetic  radiation. The

following help in the generation of

solar energy, Arrange them in the

right sequence bgginning from the

starting of the cycle :

1. Hydrogen Is mnverted to
helium at very high tempera—

 tures and pressures.

2. The energy finds its wajr to
sun's surfaq-e : :

| 3. A vast quaghty nfenergr 13

generated by nuclear fusion,

Select the correct answer using the
code given below. :

fo} 1-2-8 .~
B 2-3-1
¢} 8-2-1 '
(d) 1-3-2 .

ia

65. The greatest seasonal contrast ui‘

insolation ori the earth iz in which
of the foliaw;ng latitudinal znnes?

faj Equatorial
() Tropical

f¢} Temperate
@ Polar
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63. m o vl F R swa
i Hia & 21 T R wem ¥ dat
- Fipdwmmsdwyy

fay iR

&) SR

(@) - wi
G TEE R
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e dwmwm
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fa} 1-2-3 :

@ 2-3-1

e
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H!ﬁu “"Which ﬂne'
| countsies -

: tstnarni 'F

:: Gneanm‘l

. (o) indonea

| ®) weeleysd

| f¢ Srilankh
@ Inda

qmtemmta
Bahadur S

i ll: ~fthe fﬁ‘llomng

t-affected by the
q the Indonesian
3ecernber, 20047

--I the. following

t tﬂ:lf'. abot

fa} The rebe; h Lnf 155‘? proclaimed

i
| ot thﬂlr |
i
I

&) He was’

|
: '] & Be wes
; Revolt of

- {d}- He was &
68. Whick one &b

statements
Curzon?

i (@} He had §
: Congresa.

&
o
a2
o
1

&MQZ—M-WHA

|

I, :n

-ijl T, ]b_',r Lt. Hodson,
& canaluy If '
) I T o Iﬂad the
B57 lin the beginning

“im Delhi

ng | the following

wﬁhbpl%tlnrd

a}fupathy for the
| :

the Subsjdiary

14

69. Which one among the fuIlnwing

statements about Civil Discbadience
Movement is cortect?

fa} Bt started with Gandhijie
mereh to Champaran

) Under Gandhilrwin agree-
ment, the Congrese agreed to
“give up Civil Disobedience
anemt ' :

fc) The British Government was
quite =oft towsrds the
moyvement from the beginning

{d There were no viclent incidents
during the movement

T70. The greatest stylistic forms of temﬁle

architecifure duting the early
medieval period were the Nagara,
the Dravida and the Vesara.
Which of the following was the
geagraphical spread of the Dravide
style?

b

. {@} Between Vindhyen  and

Krishna river

{b) Between Krishna and Kaver
rivera : :

[} Between Vindhyar and Kaveri
river '

[d) Between Godavari and Krishna
rivers :



66, zﬁﬁam,gumﬁééﬁrﬁnrrﬁ:fmmﬂ 69, TlGAq 317 W= & =i § Fofafiaa
W, A R ot § & $R-ar 3w T 8 S=H-91 1% wys 6 27
A warfea gan?
fa) FEEEET : (a) WE MR F ST wBEm @
mgm
{6} WM
fop e : (b} Teli-TheA wEEh % oy =,
Tl s ey & gt & @
i} e wEAd g
67. "egl e W fdm % i 7 Fefifaa 4 fe} Ut WEE IR B § = A
T BH-A1 W T TE A L7 SR ol T o
fa) 135?%%%#3%@«31@
HHRT 1 IgE & . {) A=A & WRE FE faes s
T '
b} 3 RF R vE YamE I ffeee
i 5w AR T
¢t B T 1857 F Az & pradE
I F FogF Tl A
id) 3w FR G

70. AR, 33 3 aw, s nomm &
ARH Wi argFen & agan el &
| Frafafar 2 % =h-T, sfs 9t =

68. T &9 = M @ Aeiitm 3 3 FRm g

U F Thl 87
faj ira % Wl 376 oof wEgaf) =
b} M HEEE T TeE Hi

faj fo 3 vm = 3 d=

e} ¥ M F A ¥ vy d @il ) T 3 R aRE F e

i % Tt 7

(d) FER v, fage A ueaE %
it e F W o e e
it T2 3w A fen fd} TR @i gwn ARt ¥ e

[ Fo shoERn w8 ¥ 4
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1
¥1. Consider the [ellowing statement : ’q& Which of the following statements in
connection with the properties of
water isfare correct?

“No Indian could have started the : 1 : _
indian Mational Cemgress ... if the : L. Water has higher specific heat

founder of the Congress had not in ‘campa.risnn with  other
been & great Englishman and a ! liquid.

distinguished ex-official, such was ; 2. Water has no dipole moment.
the distrust of political agitation in i

those days that the authority wouid 5. Water has low heat of
have at once found some way or the : vaporization.

other to suppress the movement.” :
! Select the correct answer using the

code given below.

Who among the following gave

. fod 1 only
the staterment on the establishment :
of Indian National Congress? fbj 2 and 3

|

| (¢ 1and3
faj W. Wedderbum { fd} 2 only

) G. K. Gokhale o
7% The Lond which iz present between

fco R. Pal Duit water molecules is
C, . Palme Dut

~: fa} electrovaléent bond

d) Allan Octavian H
{dj an Octavian Hume (b} covalent bond

| {ej hydrogen bond

72. Which one among the following is the
chemical formula of gypsum which
is an ingredient of cemernt?

f} van der Waals bonad
TS, Waier is a good solvenl. This is due
faj CTa,S8i0, | to high

fuy dielectric congtant of water
b} CaS0,-2H,0

il (&) surface tension of water
fy CaDd !
i| fef specific heat of water

{d} CaBS04-3H,0 fd} heat of fusion of water

B-MCZ-M-FZ5/45A 16




71, FeafatEa wuq @ f=w fifte

‘Tl O, R T SUE = o
TR T EEA o .. AR FOG T
& g Wi e uw fale da-am
A T S, @ = B o=dfEs
AT § o e o ¥ weardl 3
STRITE H T & T - b
= wa)

W T sy s w8
e 9= TS B ot

fa) TEe Iz
) e Fa T
fe) HWe T TR

(d} R SR g

72. ficfifgm @ & @ = P =

WE-T T2 2, f! @ =1 1T
27

faj Ca,Si0,
(b} CasSO,-2H,0
fe) Cal

(d CasQ,-3H,0

B-MCZ-M-FZ5/45A 17

|73, w@ F g F oo A Frmfafan @

FH-T1/E T T 257

1. o & i ogen § s 6 i
TET A SYw &

2. S W1 TEgE S A R

3, ot o i ama e g

2 g T Bz W om0 W oA Im
qHT)

fa) TaE 1
B 233
fc) 133
(d) HEE 3

74, ¥@ F R & v A wEy Fem
&7

e} Pt s

(b)) TEEETST Y
o} RS A

fd) A T ARE I

|75. == = = o 2 = AR e

B % S §7

() e I A R
(b} & TE TH

fc) T =l FaifEre ==

{d) T F eI Tl S

[P.T. Q.




76. Which of the following statements
regarding the property of hard

water isfare correct?

1. Teimporary herdness of water
is due to the presence of
soluble magnesium and
calcium hydrogen carbonate,

2. Temporary hardness of water
can be removed by boiling.

2, Calgon’s moethod is applied to
semove femporary hardness of
waler,

4, Permanent hardness of water
is removed by Clark’s method.

Select the correct gnswer using the
coide given below.

fa) 1 and 2 oniy
fe) 1, 2 and 3
fe} 3 and 4

{dj 2 only

T7. An ant is moving on thin {negligible

thicknesg| civeular wire. How many
coprdinates do  you  reguire to
completely deecribe the motion of
the ant?

(@] One

{b) Two

{vi Three

fld} Zero

B-MCZ-M-FZS5 /454
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78. If d denotes the distance covered by

a car in time t and S denotes the
dizplacement by the car during the
sames time, then

@l d<13)
(b} o =} only
e d=18]

i@ a<|8|

79. A current-canrying wire is known to

produce magnetic lines of force
around the conducting siraight
wite. The direction of the lines of
force may be described by

fa} Jeft-hand thumb rule for
up-turrent angd right-hand
thum rule for down-current

{b) righi-hand thuamb ote  for
up-custent and  left-hand
thumb male for dewr-current

fe} right-hand thurnb nule for bath
up and down currents

fd) left-hand thumb rule for both
up and down currents

. H an object undergoez a uniform

clroular motion, then its

{a) acteleration remains uniform
it} velacity changes

fc} speed changes

{d} velocity remaing uniform
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8. A car is moving with a uniform
speed. However iis momentuim is

changing. Then the cay
{faj may be on an elliptical path

{8} i= moving on a straight path
without acceleration

{cl is moving on a streight path
with acceleration

{dl is moving without any
acceleration

82. Ohin’s law defines

{al = resistence
f! rurrent only
fe} woltage only
{c} both current and voltage

83. Which of the foliowing -staternents

about sexual reproduction in
flowering plants are correct?

1. Stamen is present in the centre
of a flower.

2. Stemen produces pollen grains
in the ovary.

3. The swollen bottom part of
carpel 33 the ovary. ’

4. ‘The fusion of germ ceils gives
rise (o zygole

Seiect the correct answer using the
code givernr below,

faj 2, 3 and 4 only
B} 2 and 4 only
{8 1 and 3 only
it 1,2, 3 and 4

B-MCZ-M-FZS7464

84, The  complete digestion af

carbehydrates, proteins and fats
oocut's in

{fal stomach

(b} liver

fc} small intesting

{d} large intestine

8%. Whith one among the following

statements about a healthy diet ig
correct?

{a} Regular eating of high-energy
snacks between mesls s
healthy gince it provides
energy and vitamins in plenty

{b} PFruits and vegetables make a
good choice because their
energy content iz high

fel A balanced diet must contain
pleniy of iat and protein with
little carbohydrates and fibre

{dj An optimal ouantity of fat,
protein, carbohydrate with
ageguate amount of water and
fihte tnalkes a hesalthy dief .
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86. The Nobel Prize in Medicine for
the year 2012 has been awarded
ta John B. Gurden and Shinya
Yamanaka for the discovery that

fa} mature specialized celis can
be Teproprammed 10 become

immature cells

stern cells can be programmedd
e develop individual body
organs

B}

dendritic cells have a critical
role in the development of
adaptive immunity

{e

fd) thymus cells have a critical

role in the development of
innate immunity -

87. The sex of a newborm baby
determined by
inherited from

fa)
B}
fef
fd)

iz
the thromosome
the mother

the father

mother’s mother

father'’s father

B8, Arrange the f(cllowing eventz that

tock place in the first decade of
the 20th cenfury in chrenological
order :

1. Indian INatonal
Bambay Segsion

Congress,

2. Establishment of All India
Muslim League

3. Paniticn of Bengai

4. Indian National Congress,

Surat Session

B-MCZ-M-FZ5/45A
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Select the correct answer using the
code given below.

{ef 1-2-34

B} 1-3.2-4

fo} 4-3-2-1

fdy 2-4-1-3

@, Match List-1 with List-{I and select
the torrect answer using the code
given, below the Lists :

Ligt=I List-if
| {Peasant Movemeni/ fRegion)
P{. Mappila outbreak 1. Maharashtra
H. Ramosi peasant 3. Bengal
| force
¢ Kuka revolt 3. Malabar
ﬂ Pabna revoit 4. Purijab

Code :

fail A B C D
3 i 4 2

M A B <€ D
3 & 1 2

{c A B C D
2 4 1 3

f & B C D
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90. Consider the followiny stetements

gbout Periyar E. V. Ramaswamy :

1. He was a politician, social
activist and an important figure
in the Dravidian moversnt in
South India.

3. He champioied the cause of
cagte upliftiment, nationalism
and the rights of women.

3. He was contemporary of
the MWaharashiran ang-caste
reformer, Jyotiba Phule,

Which of the statéements given
above isfare correct?

{a) 1 only
fB} 3 only
fci

(dlj

1 and 3

1 and 2

. 91, Twe atoms are =aid to be isotopes if

{a} they have the same atomic
rnumber but different mass
numkbers

fo; they have the same number of

neutrons but different mass
numbers

the sum of the number of
protons and neutrons is the
same, but the number of
protons is different

fc}

{di they have the sarne number of
neutrons but different modes

of radicactive decay

B-MCZ-M-FZS/45A
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92,

93|

94

95,

The phenomenzn of radicactivity was
discovered by

faf Marie Curie
{b) Pierre Curie
{cj Henri Becquerel

fd} J. J. Thomson

The principle of cleaning by soap is
{o) surface tension
) floatation

fa) viscosity

{d] elasticity

Sodium stearate iz a salt and is used
{a} In gunpowder

fb) in paint

fc} to make socap

{d] to make fertilizer

The pure form of carbon is
{a) diamond
fbr graphite
fe} charcoal

{d} fullerene
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96. The pH of fresh mili is &.. When it

turns sour, the pH

faj becomes < 6

fb} Tremains the same, i.e, 6
fc} becomes > 6

fd) becomes peutral, e, ¥

97. The displacement of a particle is

given by x = cos” wt. The motion is
faj simple harmenic

fly periodic WUt not
harmonic

simple

]
fej non-periodic

{d) None of the above

98. A motor vehicle is moving on a circle

with a uniform speed. The net
acceleration of the wehicle is

faj =zero
fb) towards the centrs of the circle

fe; away from the centre aleng the
radiug of the circle

fd) perpendicular to the radius
and along the velocity

B-MCZ-M-FZS145A

1

Ip0.

.99. An object is undergoing a non-

accelerated motion. Ita rate of

change in momentum s
fti) & non-2ero constant
{bf =zero

fc} not a constant

{d} None of the aboye

Electron Moiian

-

L

Maagnetic Field

W

The motion of an electron in
presence of a magnetic field is
depicted in the figure given above,
The foree acting on the electron will
be directed

{fal into the page
{B} out of the page

fc] opposite to the motion of the
electron

{d) =long the
electron

motion of the

)1. Imagine a current-carrying wire with

the direction of current downward
or into the page. The direction of
megnetic fisld lines is

{a} clockwise

{b} anti-clockwise
fe}  into the page
fc} out of the page
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102, The main thinking part of the brain

is

faj midbrain

{b} hypothalamus
fc) forebrain

fd} hindbrain

103. Which one among the {foliowing .

hormones stimulates the plant
cellz to grow in a manner such
that the plant appears to be bent
towards light?

fa; CTytgkinin
{B}  Aandn
fc} Gibberellin

{d] ¥ Abscisic acid

104. Magnetic Fesonance Imaging (MRI)

is used in medical diagrosiz to
obtain images of our internal body
organs. This is primarily possible
because

fa} our  body possesses A
permeansnt magnet

{bj MRI uses an external magnet
fo generate 4 magnetic fieid in
our body

fel MRI uses an external electric
field to generate magnetic field
in our body

{d/ ions’ moticn along gur nerve
vells generates magnetic fields

B-MCZ-M-FZ3/454A

105.

@ t

The motion of a particle is given by
a gtraighi line in the graph given
ahove drawn with displacement {x]
and time {{). Which one among the
following statements is correct?

fa) The velocity of the particle is
uniform

f) The velocity of the particle is
non-uniform

fe}] The speed is unifoym and the
particle is moving on a circular
path

fdf The speed is non-uniform and
the perticle i3 moving on a
straight line path

106, The human eve is like a ¢camera and

heiice it contains a system of lens.
The eve lens forms

fo} a2 sirmight or wupright, resl
image of the object on the
Teline

fb} an inverted, virtual image of
the object on the retina

{cj an inverted, real image of the
ghiect an the veting

) a straight or wupright, real
image of the ohject on the iris
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107. Match List-1 with List-T1 and select
the correct answer using the code
given below the Lists -

List=f List=IT
{Rack Type) fComposition)
A. Sandstone 1. Rock formed from

peat or other
organic deposits

B. Limestone 2. Clay, breaking
easily into fiat
flake plates

. Coal 3. TCalcium
carbonate formed
by precipitation

D. Shale 4. Cemented sand
grains
Code -
fa) A B C D
4 1 3 2
mi*fa B C D
2 3 1 4
fel A B C D
2 1 3 4 -
fd} A B C D
4 3 1 2

108. The ‘Golden Quadrilateral’ which
connects Delhi, Mumbai, Chennai
and Kolketa passes through

faj Amritsar—Ahmedabad—
Pune—Patna

- fb) Jaipur—Porbandar—
Hyderabad—Varanasi

fej Vadedars—Pune— _
Visalchapatnam-—Varanagi

{d}) Nagpur—Bhopal—
Surat—Amritsar

B-MCZ-M-FZS [45A 30

109. Delhi-Mumbai  Industrial  Corridor

11

connects the political and business
capitel of India. Arrange the Staies
from highest to lowest In terms
of the length of the cormdor passing
through them.

{a) Msharashtra—CGujarat—
Rajasthan—MNCR of Delhi

(b} NCR of Delhi—Uttar Pradesh—
Rajasthan—Maharashira

fe}  Rajasthan—Gujarat—
Maharashtra—NCR ol Delhi

{d} Maharashtra—Rajasthan—
Uttar Pradesh—NCR of Delhi

D. Which of the foliowing statements

isfare true?

1. The angle af the axis in relation
to the plane in which the earth
revolves around the sun iz not
canstant.

2. The amount of energy given
off by the sun changes
with the fransparency of the
atmosphere.

Select the correct anawer using the
code given below.

fa} 1 only
fb} 2 oniy
¢} Both 1 and 2

fd) Neither 1 nor 2
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111. Consider the foilowing statements :
1. The Ain-iAkbari is the third
book in the Akbarnama written
during the reign of the Mugha!
Emperor, Akbar.

2. Abyl Faozl was the author
of the first two books of the
Akbarnamag, while Aldhar wag
the author of the third.

3. The best kpnown accounts

" of Wlastreted Mughal oficial
reports are the Akbamamaand
the Babarmamao,

Which of the statements given
dbove isfare correct?

fa) L\ only

B} 1 and 2 anly

fo; 3 only

(@ 1,2 and 3

112, Consider the following statements :

1. 4 Gandhji'a Salt Satyagraha in
1930 was sagainst the State
manopoly of the memafaciure
and saie of salt

2. The American news magazine
Time’ covered the progress of
Gandhiji's walk to Dandi on
the Salt Satyagraha.

3. The Viceroy of india at the time
of the %ait Satyagraha was
Lord Ripon.

4. Gandhiji did not complete the
Dandi March due to ill-heaith.

Which of the stajements given
above isjare correct?

fal 1,2 end 3

B 4

fcf 2 only

fdi 1 and 2 only

B-MCZ-M-FZS/454
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1.

fa}
(b}
fel

| 113, Consider the follawing statements :

Gandhiji launched the Rowlatt
Satyagraha in 1919 because of
the Eritish measures to impose
censorship on the Press.

Gandhiji launched the Rowlatt
Satyapraha because of the
British policy of permitted
detention without trial.

The Rowlatt Act was restricted

to Bombay and Madras
Presidensy.

The agitation =against the
Rowlatt Act reached climax
with the Jallianwala Bagh
Massacre in Amritsar.

Which of the statements given
above are correct?

1,3 ang 3
2 and 3 only
1, 2 and 4

fdl 1 and 4 oniy

114. The acid contained in vinegar is

1]

(]
{bj
fc)
fd)

fa)
(b}
fe}
e}

acetic acid
eecorbic acid
ciiric acid

tartaric acid

5. Which one among the following is
nof a chemical change?

Curdijing of milk
Ripening of fruit
Evaporation of water

Burning of coal
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116. The

acid in pastric juice is
fa) acetic acid
)
fc)
(@

nitric acid
hydrechloric acid

sulphuric acid

117. An object is placed at the focus of a

concave mitror. The image will be

fa) real, inverted, same size at
the focus

{b}  real, upright, same size at the
focus

e} wvirtual, inverted, highly
enlarged at infinity

fdf real, inverted, highly enlarged

at infinity

11B. An optician prescribes & power

=-0-5 dieptre. The corresponding
lens must be g

fo) convex lens of focal length 2 m

f6) convex lens of focal length

50 em
i)

concave lens of focal length
Zm '

concave lens of focal length
50 em

fd}

119. A current [ flows throupgh a potential

difference V in an electrical cireuit
containing a resistance R The
product of V and I, i.e., VT may be
understood as

&

{b)
fej

resistance R

heat generated by the circuit
thermal power radiated by the
circunt

(d)

rate of change of resistance

B-MCZ-M-FZS{454A
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120, When the winds blow from all sides

1Z]

0 the central low in an anti-

clpolowize  direction, then this
phenomenon is known as
fa) anti-tropical cyclones of

southern hemisphere

(b}

temperate cyclones of northern
hemisphere

fc}

tropical cyclones of northern
hemisphere

{dj

trepical cyclones of southern
hemisphere

[. The diagram given below shows
the schematic relations of tempera-
ture and precipitation of tropical
climatic type over land :

ereasing
rafire

T 1 2 3 4
Increasing Precipitaiion

Arrange the climatic types in the
cotreci sequence from left to right ;

1. Monsoon tropics

2. Wet and dry tropics
3. And and semiarid
4. Rainy tropics

Select the correct answer using the
code given below. '

f@j 1-4-2-3
B
{c)

fd}

4-3-2-1
2-1-3-4

3-2-1-4




116. 3AWE ™ # F£5-7 30 2 87
fa) R s
fb) TERE ww
() TR A
(d) TS T

117. o5 fivg smar =l & P w @ B
=1 Siafae ¥ wm?
fa) TR W, TEEE, ARG, [
T
fb} TIFR T, TEEEH, FWEIW, §AH
AR

I W, FE, gieciE, s
faafii

fd) FE W, SwafEs,  dieene,
e faafifa

fci

118. T AiARER wfe = -0-5 =E FElE
+tdl ¢ | 9 T 4 Eh = nRe?

2 e S T 1 39w %

50 He o FFFE T Tt 390 @
2 Hio BFE 1 F1 g o

50 Ho e TFE gt & Haad oiF

(a)
&
fe}
{d}

119. R I I Rt fegg ofy § v
forEroe m SR uw 1w A R
v iln 1% T e vie . IR
T W #7

fa) Wi R

fbj WYY I IHF I

fe} URTa 30 AT weiig wiE
(d) sy giEd A =
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a8

mu 9 T W A ¥ 0 e T Ay B
& qrrEd! fewn 4 984 €, 79 39 qimeT
I T e T gf

fn) TR e & wlH-sesResi
EETIn]

b Tl ey % A Swem
fej Il e % SwEiard s
icd) =it Tan F IwEleanita Swaa

WoTaR] WEN! @1 A A T T aEE |
warm Fife

1. AGT TR
2. A 3 g Iwmiiay
3. IR i Hgsn
4. giEw ToTHREY

= Ry W F2 W @ W 3W
b= (1

fa) 1-4-2-3
B 4-3-2-1
f¢f 2-1-34

fdl 3-2-1-4

[P.T. Q.




122. Which of the following statements

relating to tsunami isfare correct?

As the tsunamis leave the deep
water of the open sea and travel
towards shallow water

1. ithe speed i=
conisiderably

they attain enormous height

3. they appear as a gentle rise
and fal]l of the sea

Select the correct answer using the
code given below.

fai 1 and 2 only
{6 2 end 3 only

& 1 only

fd) 1,2 and 3

123. Cgnsgider the following statemsnts

about the
architecture :

1. It combined the Indian with
the European  style of
architechire in the beginning of
the 20th century.

2. The GQGateway of India in
Mumbai is the most famous
example of this style.

Indo-Saracenic

3. There are many famous
exainples of this style in
the colonial cities of
Bombay {Mumbai) and Madras
(Chennai).

4. It rakes its imputaton from
ancient Greece.
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Which of the statements
above isfare correct?

given

fa} 1, 2 and 3
fB}] 2 and 3 oniy
{2 1 and 2 only

fé} 4

4. Which of the following statemeirs

igfare cotrect?

Under Article 200 of the Consgti-
tution of India, the Governor of a
State may

1. withhold his assent to a bill
passed by the State Legislature

2. reserve the bill passed by
the Stmie  Lepislabure for
reconsideraton of the President

3. return the bill, other than a
maoney bill, for reconsideration
of the Legislarure

Belect the correct answer using the
code given below.

faj 1 cnly
bl 1 and 2 anly
fe) 2 and 3 only

fd} 1, 2 and 3



122. gl & wresa 4 fefatea § 4 9w/

d =1 T R/27

= g g AR % TR T W e
AR wrer 1 3T I €, 9|

1. 396 T 36 =92 Wl 2

2. 2 e S aw ol #

3. 4 R § WR seR-Y9 o udE
Tl &

i Rr W FR oW W O I
EE

fa) e 1 32

B dam 23

C fo) wEE 1

fd) 1,233

123. Tos-Tmtr arg & R & Peiatas Fi

q[ﬁﬁl(ﬁﬁ"{:

1. 208 o=t % e 3 ol a
Teg-deEft w1 Edm ang-del @
|rY YA g2

2. e W MEd wiw sRew W ofeh
& g Tt T £

3. s (g=d) iR oW () &
FafafiE et 4 @ 950 S o
yitrg 3w §1

4. WA HT WA TR e 4
fam 21
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TEE # & ®-/A T R R/
fa) 1,233
(b} Hheael 2 WK 3
fc) <hae 1 32

fd} &

h2e, Braiim 3§ FRw/R = w4

WG % GEYHE % Sses 200 % aifR
U= 1 TITE

1. g & Wum wveam o oukm
e At wgRl OF G @

2. 1 & faum wEw g 9fm
Frims # mR % Bem & fou
rfiaa @ g B

3. fad=s =i, w1 BiFmE & s,
fBum wEe IU Teew % e
#ier dad! 2 .

=9 fu m = W W W= oad T
s

fa) *=a 1
(b} e 1 ¥R 2
ff ¥aE 233

fd) 1,233

[P0



125, Ppint out the difference bebween

the local pgovernment in India
before and after the Constituionsl
Amendments in 1992 :

1. [t has become mandafory {o
hold regular elections fo the
local govetnment bodies.

2. Jj:‘d positions are reserved for

WOInen.

3. Elected officials EXeTCise
supreme  power in  the
government.

Select the correct answer using the
code given below.

faj 1 only
o) 1 and 2 only
¢} 1,2 and 3

fd} 2 and 3 only

126. The President of India is elected by

praportional representative system
by a single transferable vote. This
implies that

{a} elected MPs and MLAs of
States have different number of
voies

Bt all MPs and MLAs of States
have one vote each

fc) all MPs and MLAs of States
have equal number of votes

fd} MPa of the Lok Sabha have
egual number of votes

B.-MCZ-M-FZS/45A

38

127, A particle is moving freely. Then its

fa) kinetic energy is always greater
than zero

{b) potential energy is greater than
zere and kinetic energy is less
than zerc

fo) potential energy is less than
zero and Lkinetic energy is
greater than zero

{4} potential energy 5 zerc and
idnetic energy is less than zerg

1213. The dispiacement of a particle at
time £ is given by

E’=af+b§}‘+%t9a'€

where a, b and ¢ are positive
constants. Then the particle is

{7 accelerated along &-direction
(b} decelerated along A-direction
fc} decelerated alang F-direction

{d) accelerated along j-direction

124). Ciravitational force shares a common
feature with electromagnetic force,
In both cases, the force is

{o) between massive and neutral
oljects :

fb) bhetween charged objects

{e} = short range

fd} a long range

130. The spread in colours In a rainbow
on sky is primarily due to

fa} dispersion of sunkight

() refiection of sunlight

f& refraction of sunlight

' fd} totsl internal reflection of
stnlight




125, wrd ¥ @Hig wed % 1992 R

gl Wi A TEe 3§ F
-t F) TR -

1. =HE wwHs T o= Paiw
== o s 8 wmr R

2. uw-fmr T whwel 3 fwm
T )

3. Tt st mem § o= ofs
T T T E

A By ™ 5= w1 W w @ ™
EGLL

@ ¥l

) ¥4 1 adk 2
el 1,233
{d) e 2 oR 3

126, WRE H UZNfe J9RH TR def

% AR T GHEAVE A g e
g 21 vee Bftani 2 W

oy Teife dug mewi ¥ = ¥
o wn weedt F R H d=w
Pa-fa 2 2

B i Sge weEl ok et ¥ fAum
i TR A W T F w0

) ot Tae TeEn 3 TeaEt & fuw
w9 wawl % Wt i T A

(@) TF Va1 & wae Wt F WEl i
T = &
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128, T

127. FE T WoAaeE T ) 99 sadh

faj TIlcs =i gag 90 § s 2

b iaw 3= = ] it of ot
ST AFAL

fe} TiE=m w9t 373 A =0 v nRw
FA g o s &

() Tl ==t 1@ % =i nfew ==t
T WA E

¢t ® Bt = o P
3c’=af+bﬁ+§t2l€ T R s g,
7B % @, bl cv 3R & 7= T
fa) k-Bm % agiew =ia &

(b} *-Tem ¥ sgfw aRa 3

fod  J-Tam % sgfw dfm 2

() - % argfem = @

129, T W iR Rgg-Teehim aw 0 O

TyatE Sem 2| 9 Rl &, 5w
fa) T 3 mEA el s dw R
B St Qs F AT 8

el IS 77w 2

(dy s 4 it 3

130, R A TEgs $ T B b ge:

fe) -y ;g @
fb) R TR
i) gE-IErE w3990 2
(b} T~ w1 Tl AR R

EPi)
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131. A force F is applied on a body |35, Which of the follwing statements
[which moves on a straight line) regarding hurricanes isfare correct?

for & duration of 3s. The 1. They develop over the ocean
momentum of the body changes bhetwoen. B*-15* N.

from 10 g ecmfa to 40 g emfs. The
magnitude of the force F is

fo} 10 dynes
fb] 10 newtons
fof 120 dynes
fd) 12 dynes

2. They are almost absent in the
South Atlantic Ocean.

3. They do not develop close to
the eguator.

Select the correct answer using the
code given below,

132. Which among the following areas is fa) 1 only
conducive for well irrigation?

2 and 3 oml
fa} Rocky and uneven surface of ) g

Peninsular India fc 1 and 3 only
{b) Dry tracts of Rajasthan and fd) 1,2 and 3
Gujarat
fe) Brackish groundwater region 136. Joint Parliamentary Sessions in
of Uttar Pradesh India are chaired by the
{d} Deltaic regions of Mahanadi, faj President of India
Godavaeri and Krishna {b) Vice-President of India who is
; . ) the Chairman of the Raj
133, Humid climate, ready market and Sabha aya
availability of cheap and skilled
labour are the conditions conducive {c} Speaker of the Lok Sabha
for the production of cotton cloth. {d) Prime Minister of India

Which of the following States of
India will have the highest cotton
cloth production?

=

37. Which one among the following is
. no a function of the Comptroller
ia) Gujarat and Auditor General of India?

{b) Kamataka fa) Auditing the transactions of
{fc) Maharashtra : Centre and State Governments
id) Punjab relating to contingency funds
and public accounts

134. The requirement of water is highest
in which one among the following
industries?

(B} Compiling the accounts of
Defence

fe} Aungditing the accounts of

e} Irom and steel institutions financed by the

fb) 0Qil refining - Government
fc} Paper from wood {d) Compiling the accounts of
{d) Rayon States '
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131, el e (Fiswmwm i @ #) W

F¢ 79 F, 3 ®e a3fy $ firu oomn
s §1 Five & T80 10 1R Fo o /Ao
B/ 758 W 90 TH Fe He /B0 A wmaT
W F W1 aftEr wm 87

@} 10 =

fb} 10 =24

fo) 120 2@

{d) 123

132, P=fofem &t § 9 FR-w1, =0 e &

e 3uge g 37

fa} EERE wE 3 fome @ sETEE
kL

fb) THER IR A F P w5

fol IR WY = @A e 89

(d) TEEED MR s 0 F g
s

133. gl @6 & I & fore @ sem, dan

=T AR wR W e ghw R
A FENF o Bl W@ &
Pl o=l 4§ 3 e v A g =
= TR U s Sme

fa) T
b} FEF

fe) WERTZ
fd) ==

134, Pl st § & s = § g

At wa F sawa B 87
fa} B 3 3T

(B dF-¥rA

e} 152 Fre

fdf &R

B-MCZ-M-FZ5/454A

41

135, W F Ty § T 8 @

RA-H1/E o el /57

1. 9 8-15° N & ¥ w9z ¥ 3w
forpfira 51 21

2. _%ﬂwmﬁamﬂw
FafeHa &

3. @ pnEm & amz BEha TS
|

f2 By m o3z w1 wm oW o osm
el

fa) A 1

fb) wam 2 3t 3

fej #*ad 1 3R 3

fd 1, 23R 3

136. ¥RA # W% TR WE B e w9

o i
fa) HWT WM

fb) ¥RE W ITEEM, S IR AW W
Ty 2

f)  ©® T sy
{el)  9TE T TEUEEH

137. Frfafa 2 9 S9-0 =, wma 3 Sues

R AR -wies 7 o T 27

fo) s fEt ofe F Sraneif
4 R & W U eER B
oF-241 ) eETE w5

B EI-TRER W HHeT

fcf wFR E@ Todfm demei %
TSt 1 wrEnla =

{d) Tre o A W HHeR B

[P.T.C.




138. Specific gravity of silver is 11 aund

specific gravity of iron is 8. Which
ane among the following is the
approximate relative density of
silver with r=apect to ron?

fap 14

by O7F

fci 30

fd) 2-8

139. Metal used to make wires for safety

fuses must have

fa} very low resistivity and high
meliing point

fb} ‘high resistivity and low melting
point

fc} low Tesistivity and low melting
point

{cd high resistivity and high
melting pomt

140, A positively charged particle projected

towards west is deflected towards
naith by & magnetic field. The
direction of the magnetic fieid i
fa} towards south

(b} towards east

e} in dewnward direction

fd} in upward direction
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141, Which one among the lollowing films
won the prestigious Golden Gilohe
Award, 2013 in the best motion
picture—Drama category?

fa) Life of P

B} Argo

fc] Lincoln

{d} Les Miserables

142, Ward Cunningham iz famous for
deyeloping for the first time

fal Wiki’, the fres encyclapedia on
internet

fb] a compuier language called
Java'

{ej a digital camera

id} a softwave whith can take
Hebrew language as ioput

43. Catch me if yoit can is a Holiywood
movie made on the life of Frank
Abagnale who was

fa} a famous lawyer
(B} a famous swirnmer
fc} a famous sprinter

{di an infamgus imposier

144. Who among the following is a spotts-
person who has won the maximum
npumber of gold medals in Summer
Clympic Games?

fa) Paavo Nuimi
{b} Carl Lewis

fe} Michae! Phelps
{d} Mark Spitz




138. =i = RAfT 7= 11 § ok @R W 14}, T=faien 4 @ s o= 5w 3 2d 2013
fafie e 8 2 Frafifea & @ @ A weiepe safea—eg o # wfafe
TH, T & " 9 7 gt i “iegn M TEEr it
e 37 fa) ©EE F 9
faj 14 i
(B) 07 fe) Teram
e} 30 (d) & I
d} 28 142. FE FE whem 7 vl v & R
uftg 87
139, e R ¥Y A & Fior i vy g A fa) ‘T, Sevie ® P e
SEr
@) i = P {b) ﬁm@twﬁ% i §
- @Ry R R

PR e = e BT {d) TiEEm, s fg W @ fRw &

£ i ¥ H & g B
fe) A wROEEA 3N @ T 148. %9 W 7% ¥ &=, 0F sieg8 Jate, FF
#i =iz Uarel & Sga w2, S
) =1 TR 3R 3= T A (a) T I oM
& =i (b} T WO
fc) TR dF OEF W
140, M 6 3w vdfw B P am | fd) T EEE W
el gl 4% g 3w i 2 fefe

1 S b1 Y A e & 14ls. A B ofr sl B 3 s

@ 3 s # Taviear ey TN Rear 27
B T o @ T
(b} FTE
(@ segdfand (o) wEmE e
fdj wedmel fen | | (e T TR
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145, Antheny De Melio Trop]':lE Is Select the correct answsr using the
asspciated with test cricitet :Beries code given below.
played between
fe) 1 oniy
{z} Australia and India
; {bi 2 oniy
(b} England and India
Bath 1 and 2
i) England and Australia { 2

(@] South Africe and India | al Nepher 1 oot 3

146, Which one among the foligwing 149. Which of the following statements
Furgpean countries has :| the is/are correct?

maximum aumber of Tunning

i ani 1. UN General Assembly in
November 2012 adopted a
fa) Germany . resolytion  banning  death
b Switzerland penalty.
e | france 2. India voted EgEfll'lS i the
: resglution.
fd} Torwey
i : Select the correct answer using the
147, Which one among the fallnwing;:lhas code given below,
completed thirty years of | its
development on 1st January, :'.EE: 137 f@ 1 ¢nly
{"ﬂ} Transmission Control Protogolf i'lb} a9 {.‘-Il'tly

ternet Protocel {TCP/IP; ¢

Boath
b} Computer Network {c Both 1 agd 2

i) Social Networking Sites fd} Meither 1 nor 2 .
fe}  Network Control Protacol (NCF}

: 150. Which one amaug the following stock
5 exchanges was colosed for wo
continuous dayvs in Ocigber 2012
due to the devastating effects of
Tarricans Sandy?

148, Which of the following siamiem '
isfare correct?

1. The 14th Finance Commissi_

was constituted under the
Chayrmanship of Shri Vijay faj New York Stock Exchange
cotlar - {b) Toronto Stock Exchange
2. The 14th Finance Comumission
has been specifically askied foj MNational Stock Exchange of
aiso to recommend hgw Australia
non-pricsity PBUs be
relinquished. fd} London Stock Exchange
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145, A & faen O TR A o wm
el 22 fiede SaEen § grafe &9

(o) &M ik wwa

(b) FAE AR WA

fc) s 3R R
fed) <Rao sl 2l wps

146. Fefefea 4 4 few gidm 3o & aftmm
e | e Ay fiewes #7

fa) <
&) T
(e} FH
() @

147. Fefifes 3 # e wF ¥ 1 5990, 2013
=l o fam % e ad gt fea 7
fa) YU Pemm TREE/Sz YT
(TCP/IP)
(b) =g T
fcf WP deafEn mge

fd) == Frimm D8 (NCP)

148. Frafafea # | ¥9-a1/3 5o & 4E7

1. =t e S S o # degd
@ smEm = 7= gy

2, <eE e amn | fow = @
S i fawim R § o
= % M-awfEm oW PSUs ®
Toea v = e s
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4= Ru m o= =1 W 3w wd I

gita)

faj FEA 1

(b} ¥ 2

fc) 1 3 2 3
i@ I

4o, PR 3 & S-a1/d = ad 2/8

1. TE=R 2012 ¥ TUF T wewW 4
YHEE W UF o F Heed
21T |

2. WAd 1 3@ T % R d m
i

9 fy M w2z w1 W@ = @ T
(Bl

faj Fa= 1

) 2

foj 1 W 2 3
() AW/ 1A AF2

:m.ﬁﬁhﬁﬁﬁﬂﬂﬂﬂ-mﬁﬁmw,

FEER 2012 # Ol wER § el
afrm & =R TEn & B ¥ R a=
w?

fa) =pTE IR TR
fb) T TR TR
fo) AR = ofg W amn

fd) &7 T A=
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